Nombres Décimaux (H)

Trouvez chaque somme.

0,19 +8,1= 56 +2,4=
0,4+50= 24 +40 =
0,24 +29 = 0,35+ 14 =
97 + 0,66 = 7,9+ 8,3 =
6,6 +0,76 = 6,9+37=
6,1 +99 = 0,38 +0,75 =
29+ 86= 30+ 0,61 =
0,59 + 7,8 = 11 +40=
44 +0,71 = 38 +52=
0,31+ 8,3 = 3,1 +0,15=
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Nombres Decimaux (H) Solutions

Trouvez chaque somme.

0,19 + 8,1 = 8,29 56 +2,4 = 58,4
0,4 +50=504 24 + 40 = 64

0,24 +29 = 29,24 0,35+ 14 = 14,35
97 + 0,66 = 97,66 7,9+83 =16,
6,6 +0,76 = 7,36 6,9 +37=143,9
6,1 +99 =105,1 0,38 +0,75=1,13
2,9 +86 = 88,9 30 + 0,61 = 30,61
0,59 +7,8 = 8,39 11+40=51
44+ 0,71 = 44,71 38 +5,2=432
0,31 + 8,3 =8,61 3,1+0,15=3,25
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